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e SHBApb despans MapT anpens HIOHb HI0JTb aBryer— centalps oKkTAGpL Hosfipe nexabps BCETO
s B niaH niad naaH niaH naad njav njiaH njiaH nJaaH njaH niaH
MOJAPA/THBIM CNOCOBOM
PEMOHT I1OABE3/IOB
mip.3enensiii gor 1.6 Hw..“ Mw.m ﬂ....mmm umu.n
ThiC.pyd 1839 183,9 2758 643,5
mkp.Cesepubiii 1.30 e > > 3 -
; 138
mkp.3enennti aor 1.5 e pyb L]
KOILBO 1 1
. ThIC. pyD 176,8 354
Kp. .27
RN K0J1.BO 2 4
THIC. Y0 88.4 92 184 S
mip.CepepHblii 1.32 TLEPYD 5 .l
KOJ1.BO 1 1 2 6
ThIC.pYD 0 0 265,2 176,8 413,7 367,7 275,8 2029,7
BCEI'O KOJL.BO 0 0 3 z 4 4 3 22
PEMOHT MEXKIIAHEJ/IbHBIX LIIBOB MHOIO
ofbexT Mecsil AHBAPL pespain mMapt anpens HIOHB HI.1b aBrycr ceHTslipn okTabpL Honbps nekalpb BCEro
aau naaH niaH niad naaH niaaH niaH naax njaaun TU1aH naaH
7 11,4 5.7 172
mkp.Cepepublii 1.15 MVH py6 20 10 300
ThIC.pYD 5,7 114 28,6
e . 2 10.0 20.0 50,0
TIC.pyO 229 343 114 68,6
sy Sanmmuss wov:x.1 M, u 40,0 60,0 20,0 120,0
.pvb 5.7 114 T
mkp.3enensii gor L1A ”._E,” B _cmo 0.0 wo“.
: ThIC.pyD 17,2 172
mip.Jlecnoi 210 - 300 30.0
py 11,4
mkp.Cesepniii 1.31 H_r” py0 200
g 11,4 11,4
mkp.CesepHbiii 1.34 ._“EH py0 0.0 200
THIC.pYO 5,7 22,9 28,6
mkp.Cesepubiii 1.33 :.z.v 0.0 200 500
ThiC.py0 0,0 17,2 17,2 22,9 17,2 57,1 0,0 22,8 22,9 0,0 200,1
BCEI'O .M. 0,0 30,0 30,0 40,0 30,0 100,0 0,0 40,0 40,0 0,0 350,0
HTOIO NNOJAPAJHBIM
CIoCcoOs0OM THIC.pYD 0,0 172 282,4 199,7 430,9 424,9 175,8 22,8 22,9 0,0 22298




ey = AHBapL pespann MapT anpensb man HIHb HK.Ib asrycr cenTslpn okTslips Hosbps Aexabpeb BCEro
s i naam niaaH naau niaH naax naau niau niaH naan naan MIaH niaH naam
COBCTBEHHBIMH CHJIAMH
PEMOHT (JIATOYHBIIl PEMOHT) KPOBJIH

e e SAHBAPH despann maprt anpeas maii HIOHb HIOIB aBrycr centsfps oxkTRipL Hoslpe aexalpn BCEr0

naau nian naau naaH naaH niau naaH T1aH naan niaH nJau naaH naau
C i ThiC.py0 13 13 10,4 10,4 572 52,0 156,0
MERLERCPRED & KBM. 25 25 20 20 110 100 300
o ThIC.pyo 21 21 420
mkp.Cesepusii 1.27 o 20 20 30
ThIC. py0 15,6 20,8 364
mkp.3enenstii aor a.1 = 30 20 70
ThIC. pyl 156 15,6 26.0 57,2
mkp.3enenstii aor 1.16 e 30 30 50 110
. THIC. py0 572 57,2
mxp.CeBepHbiii 1.29 e 110 110
. ThIC. pYD 0
mkp.Cesepunrii 1.4 =y 0
ThIC. pyD 21,8 218
wup. Cenepnuil 1.6 KB.M 42 42
i ThIC.py0 67,6 67,6
mkp.Cesepabiii 1.28 i 130 130
s THIC. pyD 62,4 62,4
mkp.Cesepubiii 1.26 e 120 120
— ThIC.pY 0,0 0,0 34,0 34,0 41,6 46,8 151,8 1404 0,0 0,0 52,0 0,0 500,6
KBM 0,0 0,0 65,0 65,0 80,0 90,0 292,0 270,0 0,0 0,0 100,0 0,0 962,0

HTOI0 COBCTBEHHBIMH
CHJIAMH — 0,0 0,0 34,0 34,0 50,0 54,6 1638 149.4 0,0 3.0 52,0 0,0 500.6
HUTOTO MO TEKYUWEMY

PEMOHTY THIC.pY6 0,0 0,0 51,2 316,4 603,2 2543 594,7 574,3 2758 258 74,9 0,0 27305
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